M U LTI B R A CK E T S

MBC1UHD
EAN: 7350073735778

Technical Summary

3
=
3
7] 2
: N
H £
B =
H o
. Max 950 8
s
g
s?
Y o
E I = 1010
| ]
[
|
|
COMPONENT CHECKLIST
M5X15 | M6X15 M8X15 | 16X (H6.2X1.5 Open-h 5mm| 6mm M8x12 | 16X 8.2X1.5| M8
wrenc
1,0 /v 1] @ |2
X4 X4 X4 X1 6%7 x1 |7 x1 X1 X4 X4 X1
A1 A2 A4 B1| B2 | B3 B4 B5 B6
M8x70 | 16X ®8.2X1.5 | M8x60 Lag bolt Lag bolt Anchor
e 7 < :
X3 X12 X1 X4 X6 X1
C1 c2 c3 c4 c5




